don't exceed 1.5 times of the original length.
= . -’_ A L] - - -
FiPEE Rl Specification
BEATE Bore of piston [ mm ) 14 16 16 20 20
Wit Swing stroke(mm) 13 16 15 17 15
|HATE Clamping stroke ( mm ) 14 15
F R N8 Y Pressure area pull/push cm’ 3.37/4.9 6.03/8.03 10.56/12.56 16.48/19.62 28.01/31.15
HiE$Eh ( S5kglcm’) Clamping force 16(kg) 30(kg) 50(kg) 80(kg) 140(kg)
{E A i i Fluid il = B < ¥ Filtered air
BAMEH Max pressure(kgfem’) 10kg/em’
EHEAEN Range of pressure (kg/em’) 4---7kglem’
WinHE Rotating direction ZWLEAWR Turn right R or turn left L
¥ Rotating angle HEHE fn frStandard angle 90° +2°
fEB AN Acting type 83X Double acting
1Eh __..-.l.‘._ £ -
@ e o A AR A Ordering Code
Series
 WRAE P .
@ Rotating direction HHERH AL Turn right R or turn left L s e
HaAE
@ Bore of cylinder 925, 932, ©40, ©50,063 (.!D é (é) @5 (55
EmaE ; a
@ Rotating angle AL/ B Standard angle 90
EEBYR | o , ATREEREO]: MW R—4&E 040, £WI0° MHPSBERS
(&) [ S1:1{8 S2:2f8 1Pcsof S1 2Pcs of S2 i

HAD SHOU

waoswou SIFHE

= B ARA Y A 6L

SIAIN, SMEE, ERE, BGRURREMHKFIEERER
—Hi TR RA

& 2 % 5 H T e R

SRR AN THERMEEE

& AR W0 in R R, W0 K TR R E 2 054

#This product is perfect , Design in brief, the structure is compact,
the weight is light,the service life is long and holding capacity is
strong,

#+You can install an indeutor on this product if yvou need.

#Fixing from top , base or the side of cylinder is ok.

#When vou need to increase the length of the clamping arm, please

EFMBWE: HPSB-L40x90°

\.w.'\.'.'\.'.'.twhaoshou.corn‘ 97



‘*-1:—_;_-:
H.o
D

———

] ]
,_J,\\_
-
i N s
il
! i
A :
| 1
t-bod /L(ﬁL
i ] <
il -
il i
T by i o ©
b
1EerasiEwy T
: t ] -:.-
T e
TR ) £
T I T
DT e
v |
I

o
e

E=—

V77777

front face from above or below

rear face

AP IE I 5) 4 Dimension table B { Unit) :mm

HPSB-ESE 109 78 | 16x16 50 6 |57-65| 14.5 | 475 40 | 55 |M5x0.B M6x1 20 3s 6.5

HPS B—32= 126 290 |19x19| 60 9 |60-73| 21 51.5 45 60 | PT1/8 MB8x1.25 30 45 6.5
HPSB-40 126 90 | 19x19| 70 9 |60-73| 22 49 52 70 | PT1/8 M8x1.25 37 55 8.5
HPSB-50 137 | 100 | 25x25 80 10 | 55-75| 25 53.5 B6 85 | PT1/8 [M12x1.75 46 65 @©8.5
HPS B-B3: 137 | 100 | 25x25| 90 10 | 65-75| 28 52 80 100 | PT1/8 M12x1.75| 60 80 ¢10.5

- 9 8 | www.twhaoshou.com



